Balance Math™ & More! Level 2
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Problem 1: Problem 2:
4 [13] 2 9 |102
3 | 23| 43 13 | 73 |133
3 |33 1 12143 6
Total: 72 Total: 223
Problem 3: Problem 4:
1313 % 312114
1 115 23 10112
28| 3| 2 13| 0 |13
Total: 5 Total: 3
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Problem 1: ? =5,200
Explanation: Remove W@ from both sides on 2nd

balance so |Z|A = 2,400. Divide both sides in thirds

SO A = 800. Substiute.soo for each A on 1st
balance so 100 + @ W = W@ + 800 + 800 + 800;
800 + 800. Remove 100 + @ from both sides so @&
W = 3,900. Divide in thirds so @ = 1,300. % 3 =
1,300 x 4 =5,200

Problem 2: ? =2,000
Explanation: Divide both sides on 2nd balance in half
so IT= . Substitute . for O on 1st
balance so @IQ .0: 1,000 + @ Remove
@ from both sides so . .<>= 1,000. Divide
above in half so . = 500. Substitute 1,000 for

.<>.<>on 2nd balance so @ =1,000. Divide in
half so < = 500. @I U<>

=1,000 + 500 +
500 = 2,000.
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Problem 1: b=8 Problem 2: a =280
c=70 c=30
d=90 d=6
axc=420 b xc=1,500

Problem 3: a =900 Problem 4: a=10
b =500 b = 1,000
d=90 c=100
axd=281,000 b xd=1,000,000

Answers
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Problem 1: ? =10
Explanation: Remove A from both sides on 2nd

balance so O‘ ‘O: |Z| Divide both sides in
half soO‘: é Substitute A for O‘ on 1st

balance so = % . Divide both sides into

fifths so = 11T).

Problem 2: ? =360
Explanation: Divide both sides on 2nd balance in

fifths so < = 160. Double so \= 320. Substitute
320 for each @ on 1st balance so m n +100 =

+ 320 + 320. Remove 100 + from both sides
SO n A 540. Divide both sides in thirds so

A _ 150 Y- 1502 =360,
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Problem 1: Problem 2:
12| 4 |13 313 %
311118 15| 8 | 3
2112 % 11813
Total: 3 Total: 2%
Problem 3: Problem 4:
5 11 1 1 1 5
9 |19 | 3 2 2|12
4 2 8 2 1 0
9 3 9 3 3
1183 AERE
Total: 2 Total: 1
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Problem 1: a =48 Problem 2: b =360
c=8 c=3
d = 4 d = 6
b+d=16 a+c=80
Problem 3: a=100 Problem 4: a=1
b=5 b=2
d=10 c=2
b+c=1 a+d=2
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Problem 1: ? = 11‘2
Explanation: Double both sides on 2nd balance so

@: % Substitute % foreon 1st balance so‘ + %

= |Z|‘ |Z| IZ Remove‘ both sides so % = |Z|

|Z. Divide both sides in thirds so % = . Divide
both sides in half so A = 112
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